CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie Harris, Sherry Riedle, Lindsey

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0200-1341-531-5)

Bremer, Traci

Schweska, Lisa

Riech, Allison

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0400-1341-535-5)

Sekardi, Maria

Shapiro, Heather

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Maley, Sarah

Joyner, Abbie

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES FEBRUARY 20, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES FEBRUARY 11, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES FEBRUARY 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES JANUARY 30, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES JANUARY 23, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES JANUARY 15, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES DECEMBER 4, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES NOVEMBER 25, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-4)

Johnson, Kassandra

Joyner, Abbie

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES NOVEMBER 21, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES NOVEMBER 14, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES NOVEMBER 7, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES OCTOBER 28, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES OCTOBER 24, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES OCTOBER 16, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES OCTOBER 9, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

Joyner, Abbie

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES OCTOBER 3, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Johnson, Kassandra

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 25, 2025, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Jett, Tandra	1.50 hours	\$55.49
Moore, Lori	2.00 hours	73.98
Peterman, Sarah	1.50 hours	55.49
Seaver, Christine	1.50 hours	55.49

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan Hustedt, Isaac

Fox, Kathleen

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Brillhart, Sarah Quandahl, Erica Moore, Lori Vespa, Lindsay

Nolte, Erin

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$64.73 EACH: (10-2210-4331-1341-534-5)

Moore, Lori Zoll, Alexandra

Vespa, Lindsay

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 4, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0800-1341-534-5)

Baldin, Jennifer Seaver, Christine

Jett, Tandra

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay

Lewis, Danielle

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay

Lewis, Danielle

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Johnson, Gay

Lewis, Danielle

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Biggs, Brian

Scott, Tyra

Kulavic, Tara

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Biggs, Brian

Scott, Tyra

Kulavic, Tara

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL RESTORATIVE PRACTICES FEBRUARY 20, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-537-5)

Hanes, Decky	1.50 hours	\$55.49
Kurz, Amy	1.50 hours	55.49
Mack, Jeanie	1.40 hours	51.79

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL RESTORATIVE PRACTICES MARCH 27, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Hanes, Decky Mack, Jeanie Kurz, Amy Warren, Lillian

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL RESTORATIVE COACHING FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-0000-1341-537-5)

Hanes, Decky Mack, Jeanie

Kurz, Amy

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-1300-1341-531-5)

Cantrell, Kenda Malenfant, Melissa

Cripe, Jill Moja, Julie

Hummert, Julie Robinson, Sarah Madonia, Melinda Vogt, Denise

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL PLANNING ACTIVITIES FEBRUARY 19, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-1300-1341-531-5)

Cantrell, Kenda Robinson, Sarah Moja, Julie Vogt, Denise

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 26, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Brady Hanken, Kathleen

Ibrahim, Umu

Detmers, Erica

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Brady Hanken, Kathleen Kincaid, Jessica
Clarke, Angela Scherbing, Laura
Delong, Michele Thomas, Sarah
Detmers, Erica Young, Jennifer

Garrett, Olivia

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-1800-1341-534-5)

Brady Hanken, Kathleen

Garrett, Olivia

Detmers, Erica

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-1900-1341-531-5)

Marvel, Andrea

Mckneelen, Angela

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES MARCH 24, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2300-1341-531-5)

Dockter, Emily

Rhodes, Lindsey

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL CO-TEACH PLANNING ACTIVITIES FEBRUARY 10, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2300-1341-531-5)

Dockter, Emily

Rhodes, Lindsey

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2300-1341-531-5)

Mead, Nena

Walker, Amy

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 10, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Borders, Ashley

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2600-1341-531-5)

Austin, Monique Hunter, Brooke Rotherham, Pam Schukai, Melissa

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 11, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BENCHMARK PLANNING ACTIVITIES FEBRUARY 19, 2025, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 27, 2025, \$36.99 PER HOUR, .5 HOURS FOR A TOTAL OF \$18.50 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 28, 2025, \$36.99 PER HOUR, .5 HOURS FOR A TOTAL OF \$18.50 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

LIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, .5 HOURS FOR A TOTAL OF \$18.50 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

LIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 3, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2600-1341-531-5)

Spears, Heidi

LV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LINDSAY ELEMENTARY SCHOOL RESTORATIVE PRACTICES PLC MARCH 11, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Bartletti, Jennifer Jordan, Laura Beck, Melissa Milnes, Karen

LVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL RESTORATIVE PRACTICES PLC MARCH 14, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-537-5)

Hulligan, Colleen

Rodriguez, Janet

LVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-3100-1341-535-5)

Campbell, Lisa Creek, William Davis, Lacy

Logsdon, Alicia

LVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES MARCH 4, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

LIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

LX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR LITERATURE PLANNING ACTIVITIES MARCH 7, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

LXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR LITERATURE PLANNING ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

LXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR: (10-2210-3100-1341-535-5)

Creek, William	1.50 hours	\$55.49	
Davis, Lacy	1.00 hours	36.99	
Rudd, Douglas	1.50 hours	55.49	

LXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-3200-1341-535-5)

Bluhm, Wendy Israel, April Kent, Jena Love, Brenna Martin, Bailey LXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR BOOK STUDY ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3200-1341-535-5)

Curry, Gina

Norton, Heather

Drewes, Kimberly

Reincke, Rachelle

Israel, April

Martin, Bailey

Schmitt, Sara

Moore, Carolyn Steinmeyer, Shelby

LXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR MATH DATA PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3200-1341-535-5)

Bluhm, Wendy Martin, Bailey Kent, Jena Reincke, Rachelle

LXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL RESTORATIVE PRACTICES MARCH 12, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-0000-1341-537-5)

House, Mikaila Parks, Victoria
Nestler, Tena Shepherd, Tosha
Noll, Meghan Woodside, Alexis

LXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL RESTORATIVE PRACTICES FEBRUARY 27, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

House, Mikaila Parks, Victoria
Murphy, Melissa Schaver, Maire
Nestler, Tena Shepherd, Tosha
Noll, Meghan Woodside, Alexis

LXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nestler, Tena

Roark, Heather

LXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT FACE PLANNING ACTIVITIES MARCH 13, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3800-1341-534-5)

Durbin, Lori Lee, Sabrina Finney, Elizabeth Roe, Katie

Greenfield, Darrin Shirley, Gabrielle House, Mikaila Woodside, Alexis

Langen, Natasha

LXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 11, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Burke, Evan Mitchell, Shanna
Campbell, Melissa Nestler, Tena
Jones, Theresa Noll, Meghan
Lantz, Andrew Piper, Riley

Lee, Sabrina

LXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Acker, Allison Noll, Meghan
King, Courtney Shepherd, Tosha
Murphy, Melissa Woodside, Alexis

Niemeyer, Cara

LXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Nestler, Tena

Roark, Heather

LXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL PARL RESTORTIVE PRACTICES MARCH 11, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-0000-1341-537-5)

Impson, Jamie Schoppenhorst, Debbie

Koebler, Bailey Tepatti, Miles Phillips, Elisabeth Wedding, Julie Reynolds, Laura Welch, Ashley

LXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn Phillips, Elisabeth Bolt, Anna Tepatti, Miles Koebler, Bailey Welch, Ashley

Lanter, Adam

LXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn
Phillips, Michelle
Borders, Mario
Reynolds, Laura
Impson, Jamie
Wedding, Julie
Koebler, Bailey
Welch, Ashley

LXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Barnes, Stacey

Durr, Tiana

Schnake, Christine

Jachino, Rachel

Law, Jordan

Scheffers, James

Schnake, Christine

Sheraden, Catherine

Troemper, Brett

Martin, Colleen

LXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 4, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn
Phillips, Elisabeth
Bolt, Anna
Phillips, Michelle
Impson, Jamie
Tepatti, Miles
Koebler, Bailey
Welch, Ashley

Lanter, Adam

LXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nesbit, Angie Pate, Emily

LXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nesbit, Angie Pate, Emily

LXXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 19, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nesbit, Angie

Pate, Emily

LXXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 12, 2025 \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Nesbit, Angie

Pate, Emily

LXXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 20, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Koebler, Bailey Powell, Donna
Martin, Colleen Schoeben, Mary
Nesbit, Angie Sheraden, Catherine

LXXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 18, 2025, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Martin, Colleen	2.00 hours	\$73.98
Nesbit, Angie	2.00 hours	73.98
Schoeben, Mary	1.00 hours	36.99
Sheraden, Catherine	2.00 hours	73.98

LXXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K

Buckles, Candice

Gibbs, Katie

Harrison, Maggie

Rawls, Nicola

Scott, Kelly

Silveri, Tracy

Thomas, Lori

Krutsinger, Roxane Ziemba-Montavon, Tammy

LXXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K

Gibbs, Katie

Harrison, Maggie

Rawls, Nicola

Scott, Kelly

Silveri, Tracy

Minton, Jacquelyn Ziemba-Montavon, Tammy

Montooth, Jennifer

LXXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT TRAINING ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Barnard, Angela Montooth, Jennifer Blunk, John Rawls, Nicola Buerkett, Eric Reed, Jennifer Rincker, William Cosgriff, Amy Harrison, Maggie Rivera, Onya Hoyt, Elizabeth Scott, Kelly Kleinertz, Larresa Silveri, Tracy Mcnear, Durick Snyder, Stephanie Mehmood, Arshad Stevens, Jamie Meyer, Catherine Strauch, Allyson Minton, Jacquelyn Taylor, Michael Mitchell, Daj'Za Teubner, Kenneth Monahan, Sarah Whitlock, Julie

LXXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MARCH 27, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Agans, Nicole Mccarthy, Caitlin
Benoit, Claire Mccray, Jasmine
Coons, Roanna Schaefer, Bridget
Donaho, Kimberly Schatz, Katie
Fromm, Kelly West, Andrew

Lessen, Kelsey

LXXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-5100-1341-535-5)

Hodapp, Brad Poe, Sarah Hunsley-Hunt, Stephanie Winders, Scott

Midiri, Frank

LXXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL PLANNING YEAR ASSESSMENT PLANNING ACTIVITIES FEBRUARY 12, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-5100-1341-535-5)

Anderson, Michael Johnson, Nefra
Beckman, Christine Midiri, Frank
Brubeck, Sarah Poe, Sarah
Fisher, Carl Tanner, Katie
Hodapp, Brad Winders, Scott

XC RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL PLANNING YEAR ASSESSMENT GROUPS PLANNING ACTIVITIES FEBRUARY 13, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-5100-1341-535-5)

Deal, Tracy Koerwitz, Angela Ford, Sarah Metzke, Scott Hunsley-Hunt, Stephanie Pochynok, Kelli

XCI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL RESTORATIVE TRAINING W/UIS MARCH 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Barnes, Kori Marley, Kathryn
Biggers, James Miller, Claire
Coleman, Justin Sellars, Miranda

Kantor, Kyler

XCII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2700-1341-535-5)

Dabbs, Kathryn Seiz, Anne Greig, Anne Totura, Jessica

Rudd, Lindsey

XCIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL SATURDAY ACADEMY ACTIVITIES - PLANNING YEAR FEBRUARY 8, 2025, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2700-1341-535-5)

Menefee, Jeremy

XCIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR MATH PLANNING ACTIVITIES MARCH 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XCV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR BOOK STUDY MARCH 11, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-2700-1341-535-5)

Antonacci, Morgan Oakes, Wendy
Bolin, Brianne Rudd, Lindsey
Chard, Lauren Seiz, Anne
Greig, Anne Totura, Jessica

XCVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL SATURDAY ACADEMY ACTIVITIES - PLANNING YEAR FEBRUARY 15, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2700-1341-535-5)

Menefee, Jeremy

XCVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL SATURDAY ACADEMY ACTIVITIES - PLANNING YEAR FEBRUARY 22, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2700-1341-535-5)

Menefee, Jeremy

XCVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL SATURDAY ACADEMY ACTIVITIES - PLANNING YEAR MARCH 1, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2700-1341-535-5)

Menefee, Jeremy

XCIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL SATURDAY ACADEMY ACTIVITIES - PLANNING YEAR MARCH 8, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2700-1341-535-5)

Menefee, Jeremy

C RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES MARCH 24, 2025 THROUGH MARCH 25, 2025, \$32.26 PER HOUR, 7.5 HOURS FOR A TOTAL OF \$241.95 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

CI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS SCHOOL IMPROVEMENT SYMPOSIUM ACTIVITIES MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Allen, Lisa Mack, Jeanie Austin, Monique Martin, Colleen Baldin, Jennifer Mccarthy, Caitlin Barrett, Caitlin Miller, Claire Beenenga, Lisa Miller, Janai Blankenship, Autumn Mitchell, Shanna Bolt, Anna Nika, Anthony Buske, Nathan Nolting, Jenny Campbell, Melissa Olagunle, Jessica

Federal Funds School Improvement Symposium Activities, March 12, 2025, \$36.99 per hour, cont.

Capranica, Amy	Rotherham, Pam
Crow, Cynthia	Schaefer, Bridget
Crumrine, Carrie	Schatz, Katie
Ethridge-Galloway, Tiffany	Schukai, Melissa
Gibbs, Katie	Sheraden, Catherine
Harris, Nicolette	Stevens, Jamie
Hunter, Brooke	Termine, Leslie
Jones, Theresa	Urbanek, Elizabeth
Kahl, Lindsay	Williams, Kauntessa
Kincaid, Jessica	Workman, Charity
V., A	

Kurz, Amy

CII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MYPERSPECTIVES ASSESSMENT AND GRADING COLLABORATION PROFESSIONAL DEVELOPMENT MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-564-5)

Gibbs, Katie

Stearns, Katherine

CIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0000-1341-564-5)

Wollet, Jill

CIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING HOURS-THIRD QUARTER JANUARY 6, 2025 THROUGH MARCH 21, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Antonacci, Morgan	1.50 hours	\$55.49
Baragiola, Tori	1.00 hours	36.99
Biermann, Andrew	1.50 hours	55.49
Bohrer, Devan	1.50 hours	55.49
Bradley, Meridith	3.00 hours	110.97
Brady Hanken, Kathleen	1.50 hours	55.49
Brubeck, Sarah	2.00 hours	73.98
Burton, Emily	2.50 hours	92.48
Buske, Sierra	1.50 hours	55.49
Byer, Macy	2.00 hours	73.98

Dept of Instruction First Year Teacher Mentoring Hours – Third Quarter January 6, 2025 through March 21, 2025, \$36.99 per hour, cont.

Carver, Kimberly	0.50 hours	18.50
Cookson, Lelah	2.00 hours	73.98
Damery, Brent	4.25 hours	157.21
Dillon, Asia	5.25 hours	194.20
Dockter, Emily	6.00 hours	221.94
Duncan, Natalia	1.50 hours	55.49
Grace, Eileen	1.00 hours	36.99
Grendze, Carmen	1.00 hours	36.99
Harness, Amanda	4.00 hours	147.96
Harpring, Nancy	2.00 hours	73.98
Hays, Megan	17.00 hours	628.83
Helton, Rachel	2.75 hours	101.72
Jachino, Rachel	7.00 hours	258.93
Johnson, Kassandra	0.50 hours	18.50
Johnson, Nefra	1.00 hours	36.99
Jones, Terwanna	0.50 hours	18.50
Kelber, Lisa	4.75 hours	175.70
Laub, Jill	3.00 hours	110.97
Layne, Danielle	10.75 hours	397.64
Love, Brenna	1.25 hours	46.24
Martin, Alexandra	1.00 hours	36.99
Martin, Amanda	3.00 hours	110.97
Mattheessen, Clara	2.00 hours	73.98
Mccarthy, Caitlin	2.25 hours	83.23
Mcnear, Durick	0.50 hours	18.50
Miller, Ashleigh	1.00 hours	36.99
Moja, Julie	0.50 hours	18.50
Morris, Bailey	2.25 hours	83.23
Oakes, Wendy	2.50 hours	92.48
Olagunle, Jessica	5.50 hours	203.45
Poggenpohl, Misty	1.25 hours	46.24
Rhodes, Macy	1.00 hours	36.99
Rotherham, Pam	2.25 hours	83.23
Russell, Denni	2.00 hours	73.98
Smith, Jeffrey	0.75 hours	27.74
Starks, Sophia	6.00 hours	221.94
Stenke, Grace	2.75 hours	101.72
Stevenson, Lexie	0.75 hours	27.74

Dept of Instruction First Year Teacher Mentoring Hours - Third Quarter January 6, 2025 through March 21, 2025, \$36.99 per hour, cont.

Totura, Jessica	1.50 hours	55.49
Vespa, Darci	6.00 hours	221.94
Vogt, Denise	1.50 hours	55.49
Ziemba-Montavon, Tammy	0.50 hours	18.50

CV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM MARCH 12, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0000-1341-564-5)

Bishoff, Anne Mahinda, Stacy Capps, Gail Martin, Beth Comerford, Janel Minch, Amy Cook, Heather Neely, Gail Cuzzort, Samantha Netznik, Melissa Daley, Melinda Ramsey, Robin Dickman, Barbara Rodden, Katelynn Faloon, Aidan Scheffers, James Godefroid, Amie Schoppenhorst, Debbie Goss, Courtney Shaon, Spring Gray, Nicole Stearns, Katherine Guikema, Lindsay Stewart, Shelley Havenar, Meri Suerdieck, Cristina Hockenyos, Karen Taylor, Kyra Jurgens, Mary Taylor, Leslie Kaiser, Aimee Terrell, Temary Kyes, Jessieca Wallner, Jennifer Leach, Nikki Walters, Amy

CVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM MARCH 12, 2025, \$22.36 PER HOUR, 2 HOURS FOR A TOTAL OF \$44.72 EACH: (10-2210-0000-1341-564-5)

Schneller, Brittany

Lueking, Mary

CVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SOUTHERN VIEW STUDENT TUTORING ACTIVITIES NOVEMBER 12, 2024 THROUGH NOVEMBER 20, 2024, \$36.99 PER HOUR, 5 HOURS FOR A TOTAL OF \$184.95 EACH: (10-2210-6412-1341-000-0)

Romadka, Bryan

CVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS 5TH GRADE BAND MARCH 4, 2025 THROUGH MARCH 25, 2025, \$36.99 PER HOUR: (10-1250-0000-1341-537-5)

Cornell, Mark	12.50 hours	\$462.38
Elshoff, Anne	12.25 hours	453.13
Gibbs, Shonda	12.50 hours	462.38
Minch, Amy	7.50 hours	277.43
O'Hare, Theresa	10.00 hours	369.90
Rockwell, Jennifer	6.50 hours	240.44
Yockey, Lucille	11.25 hours	416.14